(€

e
BT

E=EUREKA

I'-

vy sy s [y ST RN LR L
1

heF

280 Piece Kit

50— M6 x 1 Ball End

50 — M6& x 1 Knurled End
30—M8 x 1 Ball End
30—MB x 1 Knurled End
30—M10 x 1.25 Ball End

30 —M10 x 1.25 Knurled End
20—M12 x 1.5 Ball End
20—M12 % 1.5 Knurled End

http:/ feureka-assortment.com




